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General Instructions to the Examinees:

fa

1. Tenet Taged 91 U3 99 W Ak iferdd: fag |

Candidate must write first his / her Roll No. on the question paper

compulsorily.
2. uft T FwA aAfed ®
All the questions are compulsory.
3. YA U K S & TS IW-Yew H & ferd |
Write the answer to each question in the given answer-book only.
4. 9 wHE 239 24 H e fokeq § |
There are internal choices in Question Nos. 23 & 24.
5. U AR 2¥ 57H Al TS § |
Question Nos. 2 to 5 are Very Short Answer type questions.
6. 59 791 & T ¥ aifyw v €, 39 9ot 9rl 1 T T Wy Haq fag |

For questions having more than one part, the answers of those parts

are to be written together in continuity.
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7. WHHEN 1H 4 9 (4, il, @i d9 iv )T | T&E 90 % OR faewed I, 9@, |
IR g ™ ¥ | Ul SIER Skt B FEER difast s S
There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part has
Jour alternatives A, B, C and D. Write the letter of the correct
alternative in the answer-book at a place by making a table as
mentioned below :

U9 shilich e ST T TSN
Question No. Correct letter of
the Answer
1. (i)
1. (ii)
1. (i)
1. (iv)

1. () =g H Geia ( SIHW ) 91 sk 69 ( FHRETeEy ) & SAud ©

(31) 1:1 (@ 1:2

& 2:1 (R 4:1

The ratio of genome and karyotype in human is

A 1:1 B) 1:2

€ 2:1 (D) 4: 1. =
(i) o7 STAR ¥ Sy Yfeaufaa ad §

(31) HETee ( Co 80 ) qem Hifs@™ ( Cs 137 )

(F) HEE (Co®° ) qun Ul (Au 198 )

(@) =EeE (Co 80 ) qen {feram (Ga 67 )

(T) THITEH (Tc 99 ) qoM A™SH (1131 ),

The radioactive elements used in the treatment of tumour are

(A) Cobalt (Co %% )and Cesium ( Cs 137 )

(B) Cobalt (Co % )and Gold ( Au 98 )

(C) Cobalt (Co %° )and Gallium ( Ga %7 )

(D) Technetium ( Tc 9° ) and Iodine (I13! ). %
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(i) U T F AT Tt weH ®
(31) TUar aor, | 9=
(&) foar aurie, Oran aEw

(w) TYar =, |@rar 9

lecn

(7) fuar 9=, Arar gom |
The correct statement for colour blind daughter is
(A) Father colour blind, Mother normal
(B) Father colour blind, Mother vector
(C) Father normal, Mother vector

(D) Father normal, Mother colour blind.

N —

(iv) icTd X H UIgY o1 18 991 el Y H THE Uohallse § :

R
i

ii

iv

(1)

(i)

HIAH Y

AR
IECArAR|

(i) FIFTH
(iv) WIS |

S
iv
iv
ii.

The plant name is in Column X and main alkaloid is in ColumnY :

Hicd X
(P) HMH
(Q ®wdl
(R) 3TgaTien
(S) drIh
Tk G 1 eI HA ®
P Q
() i iii
(&) i iii
(q) iv i
(7) i iii
Column X
P) Opium

Q) Turmeric

(
(
(
(

R) Ashvagandha

R
i
ii

ii

(1)

(i)
(i)

(iv)

S
iv
iv

S) Tobacco

The correct sequence of matching is
P 9

A) il ii

B) i ii

) iv i

D) i iii
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ii.

ColumnY
Narcotine
Nicotine
Curcumin

Somniferine.
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10.

4

g fasT 1 9fqued S del dieRl o 9 fafen |

Write the names of scientists who propounded 'chromosome theory‘.%

Tt § o1fyek qen T H % gl ot ewi | foRd YRR S 9% 99 9 § 7

Which type of trees are found in the regions where rainfall is more in

. . 1
winter and less in summer ? 5

oee § R faema & gmaeH & fau feg oi=asifier S &1 S9Em fan S
? 2
Which transgenic animal is used to understand the development of

1

cancer in human ? 5

el HaH & a1 SAfh & g hi HEREl HSR & 9 & RO ISHH]
Sael S ¥ T gaa & | durfad A w1 A FdRy |

A person’s jaw does not open properly due to hardening of jaw

muscles, who is habitual of taking Gutka. Give the name of probable

1

disease. 5

Y el Torgs &t =Aar @ 3ae foer ( fagm ) @1 m fafae |59 fowr & 9
&0 STy |

Name the syndrome produced by deficiency of Y sex chromosome.

Give two symptoms of the syndrome. % + % =1

o9 Her wiffas 95 § Sufted Qeeid 1 AmHifed fos sHET |

Draw a labelled diagram of food web present in the grassland

ecosystem. 1
TR I IR 1 U 2
What do you mean by Interferon ? 1

T Icqe | ‘S’ TR0 wved € 2 fordt we foce uaell o1 AW faf@u |

What are ‘fries’ in fish production ? Write the name of any foreign

variety of fish. % + % =1

‘Tl RT TSN’ FHEAM aTd TIeY K1 ik a9 fafgw | fvg qeg & oiwil o
TAifereR e IR St § 2

Write the scientific name of plant which is known as ‘king of pulses’.

The seeds of which plant contain highest amount of protein ?

1,1
5 =

N
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11.

12.

13.

14.

15.

16.

17.

5

IHEY % herd H gfg @ AR B Wl § g A 9 T8 il fok TR/ B @
T 1 3% fom 7 o1 goma difS |

Tomato callus is growing continuously but root and shoot are not

developing. Give your suggestion for their development. % + % =1 %

forg Scafiadd 8 wgd € ? ThHU Qo1 STUReM Y&R & fog Scafadq &1
el @fes §AET |

What is point mutation ? Draw only the line diagram of Transition and

Transversion types of point mutation. % +1= 1%

Staa #en # fia Efew st/ 9% 9@ g1 f=E & 9 9kY gfg W EF 9T
JHTE i FHRO THAET |

Explain with reason the effect on plant growth on irrigating by water
which contain appropriate quantity of nitric acid. 1 %

Tafercn fagm =t @9 doiel & T fafae 570 x- oo 1 s fean Sran
7

Write the names of three techniques of Medical Science in which

X-ray is applied. 1 %
3T Gaeia ¥ oY = HHHd § 2 Tafdd T YIRgur § SAHde Tk Shicars e
YT M 9HEET |

What do you mean by organ culture ? Explain one problem and its

remedy for implantation in cultured organ. % + % + % =1 %

IEURT Fl WA H TIAHRG & § I8 3T R0 H T 9 & g
IS

Give your two suggestions to hardening the plantlets before
establishing in the field. 1 %

gyofeaar & fram o1 gfiwrfog wifS | o7 & faem ot < eTyret et
AT |

Define the law of dominance. Give two recessive characters found in
1

1
man. 1+§—1§
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18. TdIheeR T ¥heer H T <R faf@u | veqad & wdl W wA a1t hie &

aTes =H fafey |

Write two differences between Apiculture and Sericulture. Give the

scientific name of insect which lives on mulberry leaves. 1 + 51 = 1%

19. U fog) 1 R & 0 for| W 1 gmfa oo s ol ® § | 9o g
FRuaERai @ (14 14 )danuei W R T 0 (10 1° )T 1 TN
T H IR ER T O (10 1O ) ANMUH IR T T (1A 10 )7 |
ST AN@ st st geraar 9 Ry & arafasw qrar-faar sarsy |

Two couples are claiming their right on a baby whose blood group
is O. In the first couple the man’s blood group is A ([4 4 ) and
wife’s blood group is O (I° I1° ). In the second couple the man’s blood
group is O (I° I° ) and wife’s blood group is A (I# I° ). Find out the
real parents of the baby with a suitable line diagram. 1 %

20. =1 T & WSS &1 St 9 fafae
@ T
i &
(iii) gSieh |
Write the scientific names of pathogens of the following diseases :
(i) Cholera

(ii) Naru

(iii) Gonorrhoea. % +% +% =1z
21. REA 9 9§ AU F1 Ay 2 fufy wua 1 9w % fau 9 R e

<ifse | fafga wae aon fafsa & o o) fafay |

What do you mean by crop rotation ? Give four suggestions for the

selection of mixed cropping. Write the difference between mixed

cropping and mixed farming. 1+2+1=4

22. FEwrie §odd fhd w8d § ? W Hoed g1 T Sifsen fator =t
Tsharfarty H=ST | 9fshan k1 YYD AHifRd =5 AR |

What is protoplast fusion ? Explain the mechanism of formation of
hybrid cell by protoplast fusion. Draw the suitable labelled diagram of
the procedure. 1+42+1=4
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23. S TAT (DNA ) & Yfaeyq o AHifRd fag I | € T T & q9™ie e

T AR HLE Rl GHARY |
3T
U g1 ford T fg-Feh Hh0 YA o F, W@l 9 o qRUmH @l Sugw
3T TH TR e GRT TR |
Draw a labelled diagram of the model of DNA. Explain chemical
organisation and molecular structure of DNA. 1+3=4
OR

Explain the results of Mendel's experiment on dihybrid cross up to F ,,

generation with the help of suitable example and checker board.

3+1=4
24. ‘TESIRIEE AT H1 AR IRl o STviq quiH Hifeg :
@) TSR 1AM
(i)  HRHU
(i) T % IX A9
(iv) UHYM Td ITER & IR SUF |
YAt
‘a1’ I (e ) W FreifRd i % s vl wif
@) TSR 1AM
(i)  HRHU
(i) Tk AL AL
(iv) U™ T8 IR o =R 3UH |
Explain ‘Hydrophobia’ disease under the following titles :
@) Name of pathogen
(ii) Infection
(ili) Four symptoms of the disease
(iv) ~ Four measures for prevention and control. 1+1+1+1=4
OR
Explain ‘Tuberculosis’ disease under the following titles :
(i) Name of pathogen
(ii) Infection
(ili) Four symptoms of the disease
(iv)  Four measures for prevention and control. 1+1+1+1=4
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